Balancing Chemical Equations 2
51. LiO0 + HyO ---> 2LiOH
52. CaCz + 2H,0 ---> CzH, + Ca(OH),
53. 2Fe(OH); ---> Fe03 + 3H20
54, 2Pb(NOs)2 ---> 2PbhO + 4NO; + O
55. BaO + H:0 ---> Ba(OH):
56. 3Ca + 2AICI3 ---> 3CaCl; + 2Al
57. 4NH; + 6NO ---> 5N + 6H:0
58. 4H3sPO3 ---> 3H3POs + PHs
59. Fe,0;3 + 3C ---> 3CO + 2Fe
60. 4FeS + 70, ---> 2Fe;03 + 4SO
61. 4NH; + 50, --> 4NO + 6H.0
62. 4Si + Sg ---> 2SixS4
63. Hg.COs ---> Hg + HgO + CO
64. SiC + 2Cl, > SiCl, + C
65. AlsC3 + 12H,0 ---> 3CHs; + 4AI(OH)s
66. V205 + 6HCI ---> 2VOCl3 + 3H.0
67. Ag2S + 2KCN ---> 2Ag(CN); + K3S
68. AuS3 + 3Hz ---> 2Au + 3HS
69. 2CIO; + H,O ---> HCIO, + HCIO;
70. 4KO, + 2CO; ---> 2K,CO3; + 302
71. 2MgNH4POs ---> M@P,07 + 2NH3z + H20
72. MnOz + 4HCI ---> MnCl; + 2H,0 + Cl;

73. Pb + Na + CoHsCl ---> Pb(CzHs)s + NaCl
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74. Ca(OH), + H3PO4 ---> CaHPO4 + 2H20

75. Zn + 2NaOH + 2H>O ---> NaxZn(OH)s + H:

76. SrBro + (NH4)2CO3 ---> SrCOz + 2NH4Br

77. 3HG(OH)2 + 6HsPOs -—> Hgs(POs)2 + 6H20

78. 2Ca3(PO4)2 + 6SiO2 + 10C ---> 6CaSiOz + Ps + 10CO
79. 21409 ---> 2106 + 2l> + 302 (this equation can be balanced with various sets of coefficients)
80. 2CoHsClI + 502 ---> 4CO2 + 2H.0 + 2HCI

81. 2(NH4)2Cr207 ---> 4NH3 + 2H0 + 2Cr203 + 302

82. 2Al + 2NaOH + 6H.0 ---> 2NaAl(OH)s + 3H:

83. 2NH4Cl + Ca(OH), ---> CaCl> + 2NHz + 2H20

84. 3Al + 3NH4ClO4 ---> AlOs + AICI3 + 3NO + 6H20
85. H2SOs + 2NaHCOs ---> Na:SO; + 2CO; + 2H:0

86. CawoF2(PO4)s + 7H2SO4 ---> 3Ca(H:POs), + 7CaSO4 + 2HF
87. Caz(PO4)2 + 2H2S04 ---> 2CaS0O; + Ca(H2POu)2

88. H3POs + 12(NH4)2M00s + 21HNO3 ---> (NH4)3PO4(M003)12 + 21NHsNOs + 12H>0
89. 2C4Hio + 4Cl; + 1102 ---> 6CO2 + 2CCls + 10H20

90. 2C7H1N + 2102 ---> 14CO; + 10H:0 + 2NO:2

91. H3PO4 + 5HCI ---> PCls + 4H20

92. 2HCI + KyCO3 ---> 2KCI + HO + CO

93. Ca(ClOz)2 ---> CaCl2 + 302

94. CoHsOH + 20, ---> 2CO + 3H20

95. Xe + 3F2 ---> XeFs

96. NHsNO3 ---> N20 + 2H:0

97. 2Au203 ---> 4Au + 302
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98. 2C4H10 + 1302 ---> 8CO2 + 10H20

99. FesOs + 4H2 ---> 3Fe + 4H:0

100. 302 ---> 203

101. I + 6HNOs ---> 2HIOs + 6NO; + 2H:
102. 2C¢Hs + 150, ---> 12C0O + 6H20

103. C2HsOH + 302 ---> 2CO; + 3H20

104. 12HCIOs + P4010 ---> 4H3POs4 + 6CI.07
105. 3BaCl; + Alx(SOs)s ---> 3BaSOs + 2AICI3
106. (NH4)2Cr207 ---> Cr03 + N2 + 4H20
107. 2NaHCO3z ---> Na,CO3 + CO2 + H20
108. Fex(C204)3 --—-> 2FeC204 + 2CO;

109. CasP2 + 6H2O ---> 3Ca(OH). + 2PHs
110. 2As + 6NaOH ---> 2NasAsOs + 3H2

111. 10KsFe(CN)s + 122KMnOs + 299H2S04---> 162KHSO4 + 5Fex(SO4)s + 122MnSOs + 60HNO3 + 60CO2 + 188H20
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